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QUESTION 1

Which of the following is not a benefit of Network Slicing? 

A. Priority between different flows 

B. Privacy and segmentation between flows 

C. Recovery of network flows when they fail 

D. Differentiated QoS flows, for different services 

Correct Answer: C 

 

QUESTION 2

Which of the following defines a vertical Network Slice? 

A. When it serves a given customer for a specific purpose, such as a national energy network. 

B. When it cross all the network layers from the radio up to the core. 

C. When it serves a given common purpose, for a use case with a defined QoS (eg a use case in transportation, in
energy). 

D. When it operates on the same layer of the ISO/OSI model. 

Correct Answer: A 

Reference: https://www.gsma.com/futurenetworks/wp-content/uploads/2018/06/Network-Slicing-UseCase-
Requirements-_-FInal-.pdf 

 

QUESTION 3

Which of the following drive 5G low latency? (Choose two.) 

A. Support of up to 1 billion of IoT and sensors devices per km2 

B. Lower Time Transmission Interval (TTI) 

C. Higher spectral efficiency 

D. Edge Clouds 

Correct Answer: BC 

 

QUESTION 4

Which of the following best defines what is meant by Network Slice isolation? 
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A. Security + Cloud isolation 

B. Resource + Security isolation 

C. Transport + Cloud isolation 

D. Resource + Traffic isolation 

Correct Answer: B 

Reference: https://www.gsma.com/futurenetworks/wp-content/uploads/2018/06/Network-Slicing-UseCase-
Requirements-_-FInal-.pdf 

 

QUESTION 5

What is the purpose of the secondary authentication feature? 

A. To improve authentication between the User Equipment and the 5G Core. 

B. To improve authentication when connecting to different network slices. 

C. To authenticate the User Equipment coming from an untrusted non-3GPP access (N3IWF). 

D. To authenticate the User Equipment with an external data network. 

Correct Answer: A 
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